
 Quiz 38    

SBU 2020                                                      Lesson 38 (quiz)     

 

 

1) Partner, East, opens 1, and South passes. 

 What would you respond with these West hands? 

 

  A5  KQ102  KJ3  43 

  K973  73  J6  K2 

  Q86  QJ95  K1072  QJ985 

  J1042  K102  QJ85  Q1097 

 

 __________ __________ __________ __________ 

 

 2) You are West. Partner responded 1NT to your opening bid.  

 What is your rebid? 

 

  AK54  9  KQ75  2 

  K532  KQ764  KJ6432  AQJ964 

  Q8  AKJ32  2  A75 

  K105  AQ  A10  AJ5 

 

 __________ __________ __________ __________ 

 

3) You are West 

  

AJ 

KJ104 

A9873 

KQ 

N 

W      E  

S 

 

 

 

 

 West North East South  

 1 Pass 3 Pass 

 ? 

 

 Is it possible that East has four hearts?  __________ 

 What do you bid now?    __________ 

 

 

 

4) Partner, East, opens 1NT and South passes. 

 What do you respond with these West hands? 

 

  J104  K965  KQ1074  K84 

  Q65  Q1073  Q7  103 

  K983  A84  1095  AKQ762 

  AJ7  Q2  A65  54 

 

 __________ __________ __________ __________ 

 

 


